[ normalized x? probability |

Entries

107}

1072

107

b
(R R

i
T

.10.203040506070809 1
X Prob(x?)

Ratio

m=—— DQM_V0001_R000000001__Global__mkFiti100i0__RECO
m——=_ DQM_V0001_R000000001__Global__mKkFiti1000mod__RECO
c P
A S
B aBF-c e e e N aF-
=~ E - E
I RRREEEEEE RS ERCEREREE R |
v E N o E
3.55— """"""" 4 ° 25—'
3ot Voo
25F of--
2 -
LBf- - -2F-
- -3f-
05k} -4f-
o 0f o w5
T T
@ o
1 o
09532 0 1 2 3 09832 1 0 2 3
n TP n (PCA to beamline)
A 5E A n
2 4sfF 2 18f-
< 4F %< 1.6F-
\ E v E
35 1.4fF-
3E 12F
25F -
2F o.8f-
1.5E 0.6F
12—-+ 0.4F
o.si—Jr 0.2F
o +RF | | o GF
3 5
@ @
1 0.5
ot 1lo 1(l)2 0 10° — 1072 1071
&T AR(track, jet?
g
A 4AF
o
- 3:_
o F
o 2F
A\ E
-
o
S
_2;—.
_3;—.
~4f- :
F j i i
g5 :
3
24
na e
0.95 . . .
107 10 10% Jo



	Contents
	Page 1


